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12 (x = ) 7 

(y =) −3 

3 

 

M1 for multiplying/dividing and adding/ 

subtracting or other complete correct method 

A1  for one correct variable 

13 (a) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

2

4

     1 

 

 

(b) (i) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛−

3

6

  1 

 

  (ii) S  plotted at (−3 , 4 ) 1ft ft their PS 

14 (a) 1 

 

(b) x
10

 

1 

 

1 

 

 

(c) 
7−

p   or  
7

1

p

 1 

 

15 663.72 3 M2 for 663.716…. 

or M1 for 900 ÷ 1.356  

and B1 for their longer wrong answer  

corrected to 2dp 

16 (a) 1, 2, 3, 6 final answer cao 

 

 

(b) 36 only (as final answer) 

2 

 

 

2 

B1 for only 3 factors as final answer 

or all 4 plus a wrong one as final answer 

 

B1 for any common multiple seen anywhere 

17 (a) 
10

1

 1 

 

 

(b) 0 1 Accept 

10

0  but no other number than 10 

 

(c) 

10

5

 oe 1 

 

 

(d) 

10

7

 1 

 

18 (a) 3846 to 3849  or  3850 

 

 

(b) 169224  to  169356  

 or 169400 or 169000 

 

(c) 169.2  to  169.4 or  169  

2 

  
1ft 

  
1ft 

M1 for π × 35
2

 

or SC1 correct volume answer  

 

ft their (a) × 44  

 

 

ft their (b) ÷ 1000 
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10 (a) 

43

15

 cao final answer 

 

1 If zero in (a) and (b) then 

SC1 if both (a) and (b) are correct decimals or 

percentages as answers. 

(Mark as 0 for (a) and SC1 for (b)) 

 

(b) 

43

42

 cao final answer 1 

 

 

(c) 0 or 

43

0

 1 

 

11 (a) (x=) 35 

 

 

(b) (y=) 55 

2 

 

 

1ft 

B1 for angle BDC = 90 soi  

May be marked on the diagram 

 

ft 90 − their x 

12 (a) (i) (x=) 6 

 (ii) (x=) −2 

 

(b) 3 

1 

1 

 

1 

 

13 (a) Two stage proof 

 

2 M1 for 

75

5271

×

×+×

 or 

75

52

75

71

×

×

+

×

×

 

or alt 

5

4

 − 

7

2

 or 

7

5

 − 

5

1

 

M1dep for 1− their 

35

17

 or 

35

18

 + 

35

17

 = 

35

35

 

or alt 

35

1028−

 oe or 

35

725−
  oe 

 

(b) 

35

6

 final answer 2 M1 for 

3

1

 × 

35

18

  oe 

If zero SC1 for answer of 

35

12

 

14 (a) (i) 

5

905.0810 ×−×

 1 

 

  (ii) 7(.0) cao 

 

 

(b) 5.92 or 5.919(…..) 

2 

 

 

1 

B1 for 80 (from 10 × 8) or 45 (from 0.5 × 90) or  

5 (denominator) seen 

15 (a) (i) 175 

 (ii) 70 

 

(b) 2 points plotted correctly (±1mm). 

 

(c) Positive 

1 

1 

 

1 

 

1 

 

 

 

 

 

Page 2 Mark Scheme: Teachers’ version Syllabus Paper 

 IGCSE – October/November 2010 0580 13 

 

© UCLES 2010 

Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

Qu. Answers Mark Part Marks 

1 Pyramid 1  

2 1, 4, 25, 100 2 B1 for any two and none incorrect. 

−1 each incorrect 

3 (a) 2 

 

(b) 2 

1 

 

1 

 

4 (a) 41 or −41 

 

(b) −7 

1 

 

1 

 

5 2x
2

 + xy final answer 2 B1 for 2x
2

 or xy seen in working 

6 5.5 2 M1 for  2x + 1 = 3 × 4 or better 

or 

3

2x

 = 4 − 

3

1

 

7 6.489 2 B1 for 6.5 or 6.49 or 6.4891…. 

8 35 2 M1 for 45 ÷ (7 + 2) 

SC1 for answer = 10 

9 46.4 2 M1 for 32 × 1.45 oe 

or B1 for answer of 14.4  

10 

16

3

 2 B1 for 

10000

1875

 or any equivalent fraction. 

11 3a(c − 2d) 2 B1 for a(3c − 6d) or 3(ac − 2ad) 

or 3a(jc − kd) where j and k are non-zero. 

12 

27

8

 2 M1 for 1 ÷ (1

2

1

)
3

 oe 

or SC1 for 

8

27

 

13 (x =) 2, (y =) −1 2 M1 for correct method for eliminating one 

variable. Subtract or multiply by 3 and 5, then 

subtract 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 −2(°C) 1  

2 95.52 

 

1  

3 35 2 M1 for 4 × 8 + 3 or 4 × 

4

3

8
 

   

or 4 ×

2

1

8 + 1 or

15

525

or

15

510

+ 1 

SC1 for answer 34 

 
4 

 

8

9

< 115% <

6

1

1 < 1.2 

 
2 

 
M1 for all decimals (or %), allow 1 error or  

B1 for 3 in correct order 

eg 115% <

8

9

<

6

1

1 < 1.2 

SC1 for reverse order 

    

5 7.5 2 M1 for 12 × 5 ÷ (1 + 5 + 2)   oe 

6 4.58   cao 2 B1 for 4.6(0) or 4.57 or 4.579 or 4.578 or 4.5789 

or 4.5788… 

SC1 for 4.58
3

 only 

7 (a) 7.34 × 10
8

 1  

 (b) 5.87 × 10
–4

 1  

8 399 500 (≤ P <) 400 500 1, 1 SC1 for both correct reverse order 

9 (a) 6.25   cao 1  

 (b) 0.16   cao 1  

10 (a) (x =) 20 1  

 (b) (y =) 65 2 B1 for ABD = 65° or ADB = 95° 

11 (a) x + 2x + 2x + 75 = 360  1 Allow 4x + x + 75 = 360 or 5x + 75 = 360  

or 5x = 285 

 (b)  (x =) 57   cao 2 M1 correct first step after 5x + 75 = 360 

ie 5x = 360 − 75 or x + 15 = 72 

If zero SC1 for correct solution to their linear 

equation seen in part (a) or in part (b) if (a) is 

blank 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 25 1  

2 (a) 105 002 1  

 (b) 110 000 1ft  

3 8x + 5y   cao 2 B1 8x or 5y in final answer 

4 (a) 7 × (6 − 3) + 5 1  

 (b) 8 − 6 × (4 − 1) 1  

5 

21

11

, 52.4%, 0.525,

211

111

 

2 M1 for conversion to decimals or %, allow 1 error 

0.5238…, 0.524, 0.525, 0.526  

or B1 for 3 in correct order 

SC1 correct but reverse order 

6 8 2 M1 for 240 or 0.3 seen or figs 24 ÷ figs 3  

7 112 2 M1 for 240 ÷ (7 + 8) × 7 

8 (a) 211   cao 1  

 (b) 216   cao 1  

9 ($)138 2 M1 for 120 × 1.15   oe 

SC1 answer 18 

10 (x =) −3   (y =) 5 2 M1 for correctly eliminating one variable 

11 (x =) 3.5  2 M1 for 2x − 3 = 2 × 2 or better 

2

2x

= 2 +

2

3

 

12 (a) 1.28 × 10
5

 1  

 (b) 128 500 1  

13 882 2 M1 800 × 1.05 × 1.05 

14 5h(g
2

 + 2j) 2 B1 for 5(g
2

h + 2hj) or for h(5g
2

 + 10j) 

15 298.79   cao 2 M1 for 500 ÷ 1.6734 

16 20x
9

   cao 2 B1 for kx
9

or 20x
k

 

17 130 2 M1 for 26 × 500 000 or 1 cm represents 5 km   oe 
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10 

 

 
 
7.7 

 
2 M1 for 44 × 

100

17.5

 oe  

11 (a) 

 

(b) 

6561 cao 

 

1 

1 

 

1 

 

12 

 

 4.8 oe 2 M1 for 5 + 19 = 3x + 2x oe or better  

or B1 24 – 2x = 3x  oe   
or 5 = 5x – 19 oe   

13  [Other angle could be] 84  2 M1 for 180 – (48 + 48)  

or SC1 shows that two angles of 66 are needed to make 

an isosceles triangle 

 
14 

 

 
(a) 

 
 

(b) 

6

2

 oe 

 

200 Final answer 

 
1 

 

 
1FT 

 

  
FT 600 × their (a) providing their (a) is a probability 

15 

 

 435, 445 cao 2 B1 for one value in correct place 

or SC1 for both values  correct but reversed  

16 (a) 

 

(b) 

4 

 

7 nfww 

1 

 

2 

 

 

M1 for a correctly ordered list of at least 8 numbers  

 
17 

 
 
944 cao 

 
3 M1 for 800 × 6 ×

100

3

 oe 

 
A1 for 144 

A1 FT Dependent on M1 scored 

for their 144 + 800 evaluated 

 
18 

 

(a) 

 

 

 

(b) 

 

Ruled perpendicular line 

through P 

 

 

Correct ruled line drawn 

with 2 correct sets of arcs 

 

1 

 

 

 

2 

 

± 2° 

 

 

 

B1 for correct line without correct arcs  

or for 2 sets of correct arcs with no line 

 
19 

 
 
6.6 cao 

 

 
3 M1 for sin 56 = 

8

h

oe or better 

 
A1 for 6.63...... 

A1 FT Dependent on M1 scored 

for their answer correctly rounded to 2sf 
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13 (a) 5 cao 1  

 (b) 196 cao 1  

 (c) 97 cao 1  

14 (a) (0, 5) 1  

 (b) –2 1  

 (c) y = –2x + k 1 k ≠ 5 

15 (a) 26 1  

 

(b) 

10

3−c

 or 

10

3

−

− c

 oe final answer 

 
2 

 
M1 for one correct step of a two step method. 

16 74.1 or 74.137 to 74.140 3 M1 for 10 × 6 

and M1 for 0.5 × π × 3
2

 

17 [x =] 3, [y =] 4 3 M1 for correctly eliminating one variable 

A1 for [x =] 3  

A1 for [y =] 4  

If zero scored, SC1 for correct substitution and 

evaluation to find the other variable. 

18 (a) x
7

 1  

 (b) 5y
6

 2 B1 for 5y
m

 or ky
6

 in answer m ≠ 0, k ≠ 0 

19 (a) Ruled line from (0, 0) to (5, 22.5) 2 B1 for (5, 22.5) or (0, 0) at the ends of the ruled line. 

 (b) (i) 17.5 to 18.5 1FT FT their straight line 

  (ii) 3.3 to 3.4 1FT FT their straight line 

20 (a) Net completed 2 With one 2 by 5, one 3 by 5 and two 2 by 3 

rectangles correctly positioned 

B1 for 2 correct rectangles correctly positioned 

 (b) 30 

 cm
3

 

2 

1 

M1 for 3 × 2 × 5 

Independent mark 

21 (a) Angle bisector with correct arcs 2 B1 for correct line, with incorrect or no arcs or 

correct arcs with incorrect or no line 

 (b) Perpendicular bisector with two 

correct pairs of arcs 

2 B1 for correct line, with incorrect or no arcs or 

correct arcs with incorrect or no line 

 (c) Arc centre C, radius 7cm  

 Correct region shaded 

1 

1FT 

 

FT their arc centre C 
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Abbreviations 

cao correct answer only 

dep dependent 

FT follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

nfww not from wrong working 

soi seen or implied 

 

Qu. Answers Mark Part Marks 

 
1 

100

13

 oe 

 
1 

 

2 (a) 

 

 (b) 

304 620 

 

305 000 

1 

 

1FT 

 

3 (a) 2 1  

 (b) 

 

1  

4 9.61 2 B1 for 9.609[1…] 

or for their answer seen rounded to 2 d.p. 

5 (a) 

 

 (b) 

5 

 

0.75 oe 

1 

 

1 

 

6 (a) 

 

 (b) 

 23.3 

 

–15.5 

1 

 

1 

 

7 (a) 

 

 (b) 

14 

 

1296 

1 

 

1 

 

 
8 (a) 

 

 
 (b) 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

4

2

 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛−

18

9

 

 
1 

 

 
1 

 

 
9 

15

1012 −

 or 

15

10

15

12

−  oe 

15

2

 oe 

 
M1 

 
 

A1 

 

  
Answer must be a fraction 
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Qu. Answers Mark Part Marks 

1 10 18 (am) 1  

2 (a) 41%     0.43     

9

4

 1 accept decimals 

 

(b) 0.3 < 

3

1

 only 1 

 

3 

5

3

 2 W1 for 

35

21

 

M1 1 − 

35

14

 oe 

SC1 answer 

5

2

 

4 y = 4x – 3  oe 2 W1 for  y = 4x + j,  or y = kx − 3 

If zero, SC1 for 4x – 3 

k ≠ 0 

5 287° 2 W1 for 73 or 107 marked in correct position at P 

or 

M1 107 + 180 

6 (a) –7 

 

(b) 13 

1 

 

1 

 

7 10 2 M1 for 

17000

)1530017000(their −

 

 

W1 for 100

17000

15300

×  or answer 90(%)   

8 (a) x + x + 3 + 2x – 7 = 52 or better 

 

(b) 14 

1 

 

2ft 

 

 

W1 for 4x or 56 seen 

Follow through their (a) if linear and equal to 52 

for 1 or 2 marks. 

9 2.5(0) or 2.503…. to 2.504 

 

3 M1 for πr
2

 = 19.7 soi 

M1 dep for 19.7 ÷ π 

10 (a) p
7

 

 

(b) 4q
6

 

1 

 

2 

 

 

W1 for 4q
n

 or  kq
6

  k ≠ 0 

11 18 3 M1 for exterior angle 180 − 160 implied by 20 

(could be on diagram) 

M1 dep for 360 ÷ their 20  

12 (a) 0.01  or  

100

1

 1 

 

 (b) 1 

 

(c) 7 

1 

 

1 
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Qu. Answers Mark Part Marks 

1 119 1  

2 (a) 24 

 

(b) (24), 48, 72, 96 

1 

 

1 

 

 

SC1 for ans (48), 96 if their (a) is 48. 

3 3p(2m − 3q) final answer 2 W1 for 3(2mp − 3pq) or p(6m − 9q)  

or 3p(am ± bq) where a and b are integers. 

4 

20

7

or equivalent fraction isw  www 

 

2 M1 for 

54

15

54

42

×

×

+

×

×

 or 

20

5

20

8

+  or 0.4 + 0.25  

or 1− 

20

5

20

8

−  or 1 − 0.4 − 0.25 or 40 + 25 

or 400 + 250 or 1000 − 400 − 250 seen 

If M0 then SC1 for 

20

7

 with no, incomplete or 

wrong working. 

Condone if followed by 0.35 or 35% 

5 (a) 22 10, 22:10, 22.10, 10 10pm 

 

(b) 11(h) 35(min) 

1 

 

1ft 

 

 

Follow through time period from their (a) to 09 45 

6 1904 2 M1 for 400 × 4.76 

7 66.5  2 

cao 

W1 for figs 665  

or SC1 answer of  66.5 < LB < 67.5  

8 (±)√(m + 2) final answer 2 W1 for p
2

 = m + 2  

or ft square root after incorrect first step(s). 

SC1 answer of (±)√m + 2  

9 (a) (0)34 to (0)36  

 

(b) 286 to 289  

1 

 

1 

 

 

 

10 (a) 6 

 

(b) 520  

1 

 

2 

 

 

M1 for 5 × 10
2

 − 10 × −2, or better  

If zero, SC1 for answer of 480 or 2520 

11 (a) Line of fit by eye 

 

(b) Negative 

 

(c) Older children run faster  

1 

 

1 

 

1 

 

12 (a) −3 

 

(b) (i) p
5

 

1 

 

1

 

 

 

 (ii) m
–4

 or 
4

1

m

 1
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Qu. Answers Mark Part Marks 

1 109 1  

2 10 26 (am), 10:26,  10.26 1  

3 12, 16, 24 

 

2 W1 for any 2 correct out of their 2 or 3 answers in 

the range  

or W1 for all 3 with other factors outside the 

range.  

4 (a) > 

 

(b) < 

1 

 

1 

 

5 20 2 M1 for 

21000

)1680021000(their −

 or 

21000

4200

 

6 y = 3x – 2 oe final answer 2 W1 for 3x + j,  j ≠ 5   

or W1 for kx − 2,  k ≠ 0 

7 

40

11

 or equivalent fraction isw  www 

Condone if followed by 0.275 or 27.5% 

2 

cao 

M1 for 

58

15

85

83

×

×

+

×

×

 or 

40

24

40

5

+  or 0.6 + 0.125  

or 

40

24

40

5

1 −−  or 1 − 0.6 − 0.125 or 600 + 125 

or 60 + 12.5 or 1000 − 600 − 125 seen 

If M0, then SC1 for 

40

11

 with no, incomplete or 

wrong working. 

8 (a) 519.504 

 

(b) 520 

1 

 

1ft 

 

 

Only ft if their (a) is 4 figs or more 

9 44.2    

or 44.15  to  44.19 

2 M1 for 3.75
2

 × π 

10 (a) 2 

 

(b) A M T 

1 

 

2 

 

 

W1 for 4 letters listed, 3 of them correct  

or W1 for 2 and only 2 correct  

11 (a) m
–2

, 
2

1

m

 o.e. 1 

 

 (b) 5k
6

 2 W1 for 5k
n

 (n ≠ 0) or mk
6

 (m ≠ 0).
       

 

12 12 3 M1 for exterior angle 180 − 150 implied by 30 

(could be on the diagram) 

and M1 dep for 360 ÷ their 30 

13 (a) 15 – 20h final answer 

 

(b) 24d
3

 + 4de
2

 final answer 

1 

 

2 

 

 

W1 for 24d
3

  or  (+)4de
2

 seen 

14 (a) 16.1 

 

(b) 16100  

2 

 

1ft 

M1 for 4 × 2.3 × 1.75, or better 

 

1000 × their (a) 


